JK18 TempO Notes on the solutions

Station 1 (HQ)

1.

Two kites either side of the tower marked as a small building on the map. You needed the
NE one, but you're looking from the North so it’s the opposite side of the control
description. Answer A.

Control circle over a special feature — the small army vehicle — but there are two in view.
The kites are around the SE vehicle, but circle is around the NW one. Answer Z.

Same control description as before, but this time the control circle is around the SE vehicle.
Answer D.

Two kites on the edge of the flower bed. The correct one is lined up with the tree. Answer
E. [The flowerbed is hard to see on the map, but the circle centre is next to the tree, which is
the line up for this control]

Kite looks like it’s on the fence corner, but really, is next to the vehicle. The form line shows
that if the kite was on the corner it would be lower in the landscape. Answer Z.

Station 2 (Fire)

1.

A kite is in line with the corner, but only 75% of the way there — The kite is bigger (therefore
closer) than those on the wall beyond. Answer Z.

Kite is on a building, is it a wall or a building? You have to choose between E and C. Answer
C.

Circle is over the gate with the description showing SE side, D distracts, but it’s closer to you,
B distracts but is on the wrong gate. Answer Z.

Two kites are on the edge of an open area and a road, F and D. Correct answer D.

The kite position is described as a wall corner, the challenge is to be sure that it’s the right
gate, which it is. Answer B.

Station 3 (Bank)

1.

Kite on edge of the road just over the top of the hill, but the angles make it hard to see
what’s what. Answer F.

Two kites on the fence: D is just behind the edge of the hill, B clearly not obscured. C
confuses as it’s in between. Answer D

The E kite is on the eastern edge of the hill towards the bottom, but inside the contour. A
kite in the Zero position would not be visible from the viewing point. Answer Z.

This is the correct location of the E kite that distracted on the previous problem. Answer E.
Kite at the bottom of the bank and just in view. Answer C.

Station 4 (Badger)

1.

Early control, when you are not into the map. The answer is Z, but you are supposed to be
confused by F. Answer Z

There three earthwalls to your left but the eastern one is behind you. The vegetation under
the B kite looks like another earth wall to add to the confusion. Answer Z.

Again if you are not into the map, then you may be confused by E, but the correct kite is F.
The knoll in front of you adds to the earth wall confusion. Answer C.

The ditch has 2 bends, the kite is in the farthest. However, the control circle is over the
closest. The F and E kites can help navigating in to the zero location. Answer Z.

Station 5 (Terrace)



Here if you are not fully into the map you will feel that the answer is E or possibly F, but in
reality, the circle is over the hill behind you. Answer Z.

A control that is hard if you’ve not identified all the green features in the left of the view.
Answer Z. [Actually, we meant this to be B but put the kite in the wrong place]

The kite is on the eastern part of the terrace in the centre of the view. Answer C.

The answer is a choice between E and Z. Answer E.

Here the kite is on the re-entrant on the side of the spur. Answer D. The final three controls
are spread around to keep your eyes moving.

Station 6 (Water)

1.

The little stream connecting the pond to the NE lake lines up with the zero location, but the
siting of the viewing point makes this hard to see, unless you concentrate. Answer Z.

3 kites in the distance. The correct kite is lower as on the foot of the hill. Answer E.

Back to the close pond, but looking at the two kites there, which is under the circle? Answer
C.

Back to the 3 distant kites. D is clearly between the hills, but is it too close to you? No.
Answer D.

Final control, are you still thinking straight? There is one kite on top of the hill, but over 10m
SE of the control circle. Answer Z.



